TABELAS E FIGURAS - INGLÊS
TABLE
Table 1 - Chemical characterization (dry base) of compost 1 (C1) and compost 2 (C2) at 120 days after installation of the piles. 
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[image: image1.emf]Type    Moist .  (%)  O . M .  (%)  C/N  pH  N  P  K  Ca  Mg  S  Zn  Fe  Mn  Cu  B  

 ------------------- dag kg - 1 -------------------  --------------- mg kg - 1 --------------  

 

C1  64,0  68, 6  23  7,6  1,50  0,30  1,73  0,63  0,16  0,14  21  5111  63  28  23  

C2  59,5  62, 8  10  7,1  3,05  3,55  3,09  3,56  0,75  0,37  406  3115  490  203  37  
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Figure 1 - Mean values ​​of pH, Al3 + and H + Al in function of proportions (%) of compost 1 (a) and compost 2 (b) in the presence and absence of leguminous (jack bean). LSD (Tukey 10%) for the study to factor leguminous in the proportions of the composts - pH: 0.4715; Al3 +: 0.1289; H + Al: 0.7354. Vertical bars: standard error. ***, **, *: Significant at 1, 5 and 10% respectively by Student's t test.
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Figure 2 - Mean value ​​of available phosphorus (P) in function of proportions (%) of compost 1 (a) and compost 2 (b) in the presence and absence of leguminous (jack bean). LSD (Tukey 10%) for the study to factor leguminous in the proportions of the composts: 21.3. Vertical bars: standard error. ***, **, *: Significant at 1, 5 and 10% respectively by Student's t test.
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Figure 3 - Mean values ​​of K, Ca and Mg in function of proportions (%) of compost 1 (a) and compost 2 (b) in the presence and absence of leguminous (jack bean). LSD (Tukey 10%) for the study to factor leguminous in the proportions of the composts - K: 79.7811; Ca: 0.6231; Mg: 0.1883. Vertical bars: standard error. ***, **, *: Significant at 1, 5 and 10% respectively by Student's t test.
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Figure 4 - Mean values ​​of sum of bases (SB) and base saturation (V) in function of proportions (%) of compost 1 (a) and compost 2 (b) in the presence and absence of leguminous (jack bean). LSD (Tukey 10%) for the study to factor leguminous in the proportions of the composts - SB: 0.8765; V: 12.8688. Vertical bars: standard error. ***, **, *: Significant at 1, 5 and 10% respectively by Student's t test.
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Figure 5 - Mean values ​​of effective CEC and CEC at pH 7 in function of proportions (%) of compost 1 (a) and compost 2 (b) in the presence and absence of leguminous (jack bean). LSD (Tukey 10%) for the study to factor leguminous in the proportions of the composts - effective CEC: 0.7787; CEC at pH: 0.7930. Vertical bars: standard error. ***, **, *: Significant at 1, 5 and 10% respectively by Student's t test.
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